






962 + 300

2.1 + 0.8

8975 + 349

120 ÷ 10

20th May 2022
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20th May 2022



Answer in Mixed Number

10.

20th May 2022



466 − 1

7.1 + 0.02

7 × 7 × 4

Answer in Mixed Number

120 ÷ 6

3.51 × 100

20th May 2022
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7 × 7 × 4

Answer in Mixed Number

120 ÷ 6

3.51 × 100
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Answer in Mixed Number

3.51 × 100
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Answer in Mixed Number
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500000 − 100

900 × 900

Answer in Mixed Number

490 ÷ 7

76% of 1900

6.25 × 2

20th May 2022
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Answer in Mixed Number

76% of 1900

6.25 × 2
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Answer in Mixed Number

20th May 2022



19.

Answer in Mixed Number

23.

20th May 2022



5502 + 1627

3940 ÷ 4

Answer in Mixed Number

18 − 9.2

11.1 − 5.74

20th May 2022
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Answer in Mixed Number

18 − 9.2

11.1 − 5.74
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Answer in Mixed Number

18 − 9.2

11.1 − 5.74
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Answer in Mixed Number
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20th May 2022
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Answer in Mixed Number
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5502 + 1627

Answer in Mixed Number

11.1 − 5.74
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Answer in Mixed Number

}



25.

26.

Answer in Mixed Number

29.

}



25.

17% x 750

Answer in Mixed Number

199499  − 16988

}
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Answer in Mixed Number

199499  − 16988
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Answer in Mixed Number

199499  − 16988

}



17% x 750

Answer in Mixed Number

199499  − 16988

}



17% x 750

Answer in Mixed Number

199499  − 16988

}



Answer in Mixed Number



31.

32.

Answer in Mixed Number

34.

35.

36.



31.

( (4 x 5 ) - (3-4) ) -1

Answer in Mixed Number

34.
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